Metal Oxide Film

Fixed Resistors

IMetal Oxide(O) Series £EF L EEPRR
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Characteristics
Power Standard Dimension Working TastYoltage Insulation Resistance
(70C )| D Max.|LMax| doe: | H£3 | Voltage Voltage Range
Standard Dimension
1/4W 25 75 0.6 28 250V 400V 250V 0.3Q~50KQ
1/2W 4 10 0.6 28 250V 400V 250V 0.3Q~50KQ
TW 5 12 05, 28 350V 600V 350V 0.3Q~50KQ
2W 5.5 16 0.8 28 350V 600V 350V 0.3Q~50KQ
3W (5155 17.5| 0.8 28 500V 800V 500V 5Q~100KQ
bW 8.5 26 0.8 38 750V 1000V 750V 5Q~150KQ
7W 815 82 0.8 38 750V 1000V 750V 20Q~150KQ
8W 8:5 41 0.8 38 750V 1000V 750V 30Q~200KQ
9w 85 54 0.8 38 750V 1000V 750V 50Q~200KQ
Small Dimension
1/2W 205 7445 0.6 28 250V 400V 250V 0.3Q~50KQ
TwW 4 10 0.7 28 350V 600V 350V 0.3Q~50KQ
2W 5 12 0.7 28 350V 600V 350V 0.3Q~50KQ
3W b:b 16 0.8 28 350V 600V 350V 0.3Q~b0KQ
5W 615 7.5 (L6 28 500V 800V 500V 5Q~100KQ
bW 8 25 0.8 38 500V 800V 500V 5Q~150KQ
Standard E-24 Code, Tolerance +5%
Standard Basic Coloris Grey
Characteristics
Temperature Coefficient  +350PPM/C

Loading of Instantaneous

Insulation Voltage
Pulse Loading

Strength of Lead

Resistance to Solder Heat

Solder Ability of Leads
Resistance to Solvent
Temperature Cycle

Resistance to Humidity
Humidity Loading

Loading Life High Temp. Loading
Resistance to Flame

Standard Size: AR/R= +(1%+0.05Q), No Failure

Small Size:AR/R= +(2%+0.05Q), No Failure

No Failure

Standard Size:AR/R= (2% +0.05Q), No Failure

Small Size:AR/R= +(5%+0.05Q), No Failure

Pulland Bending > 1Kg,A 90° Bend at the Point of Egress,in One Direction,
Return to Qriginal Position and then A 90° Bend in Opposite Direction at
the Rate of One Bend in 5 Seconds.

AR/R= +£(1%+0.05Q), No Failure

>95%

No Failure

AR/R= (2% +0.05Q),No Failure

AR/R= +(2%+0.05Q),No Failure

AR/R= £5% for<100KQ, +10% for =Z100KQ

AR/R= £5% for<100KQ, +10% for =100KQ

No Failure
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